ApxaHrenbck (8182)63-90-72
Actana (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropon (4722)40-23-64
BpsHck  (4832)59-03-52
BnapguBocTok (423)249-28-31
Bonrorpap (844)278-03-48

WBaHoBO (4932)77-34-06
MxeBck (3412)26-03-58
KazaHb (843)206-01-48
Kanununrpag (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
KupoB (8332)68-02-04
KpacHopap (861)203-40-90

Marnutoropck (3519)55-03-13
MockBa (495)268-04-70

MypmaHck (8152)59-64-93
Ha6epexHble YenHbl (8552)20-53-41
HuxHuit HoBropopa (831)429-08-12
HoBoky3Heuk (3843)20-46-81
HoBocubupck (383)227-86-73
Omck (3812)21-46-40

Mepmb (342)205-81-47
PoctoB-Ha-loHy (863)308-18-15
PasaHb (4912)46-61-64

Camapa (846)206-03-16
CaHkT-MeTepbypr (812)309-46-40
CapartoB (845)249-38-78
CeBactononb (8692)22-31-93
Cumdpeponone (3652)67-13-56

CypryTt (3462)77-98-35
TBepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbAHoBCK (8422)24-23-59
Ydba (347)229-48-12
XabapoBck (4212)92-98-04

Bonorpa (8172)26-41-59 KpacHosipck (391)204-63-61 Open (4862)44-53-42 CMmoneHck (4812)29-41-54 YensnbuHck (351)202-03-61
BopoHex (473)204-51-73 Kypck (4712)77-13-04 OpeH6ypr (3532)37-68-04 Coumn (862)225-72-31 YepenoBew, (8202)49-02-64
ExkaTepuHGypr (343)384-55-89 Nuneuk (4742)52-20-81 MeH3a (8412)22-31-16 CraBpononb (8652)20-65-13 fpocnaBnb (4852)69-52-93

Kuprusua (996)312-96-26-47 KasaxcrtaH (772)734-952-31 TamxkukucTtan (992)427-82-92-69

http://modentic.nt-rt.ru/ || mcb@nt-rt.ru

FEATURES

HASTELLOY C276
MD-82

ANSI Class 150

2-PC Flanged Ball Valves

MODENTK

* Investment Cast Body Contruction

* 2 Pieces Body Design

* |ISO 5211 Mounting Flange

* Blow-Out-Proof Stem Design

* Available for Pneumatic or Electric Actuator

* NACE MRO0175 is available upon request

» Other Super Alloy materials for highly corrosive
medium are available upon request

STANDARD

* Design

* Mounting Flange
* Face to Face

* Flange Dimension
* Material

* Pressure Testing

ASME/ANSI B16.34/ API 608
ISO 5211

ASME/ANSI B16.10 Class 150
ASME/ANSI B16.5 Class 150 RF
ASTM

API1 607 6thEdition API 598
ISO 10497

Fugitive Emission
Full Bore

ISO 5211 Mounting

2 Piece Body Design

CERTIFICATE

API 607 6thEdition / ISO 10497 Certified
TA-LUFT

ISO 9001

EN 10204-3.1 MTR

PED 97/23/EC Module H

* Fire Safe

* Fugitive Emission
* Quality Assurance
» Material Certificate
» CE Approval

» Canadian Certificate ~ CRN
AVAILABLE MATERIAL
MATERIAL
NO. PART NAME (more options available )
* ALLOY 20 1 BODY ASTMA494 Gr.CW12MW
4  BALL W ASTMA494 Gr.CW12MW
e HASTELLOY® C-276 5  STEM N10276
9  ENDCAP ASTMA494 Gr.CW12MW
« DUPLEX 2205 11 BODY SEAL GRAPHITE+SS316 (SPIRAL WOUND )
12 SEAT RTFE.(156%G.F.)
e DUPLEX 2507 13 THRUST WASHER PTFE.
13-1 THRUST WASHER (for 2-1/2" ~ 12" only ) PTFE.
« MONEL® 14  STEM PACKING PTFE.
14-1 STEM PACKING PTFE.
¢ SS904L 15 GLAND $S304
19 HANDLE SS304(1/2"~2") ' FCDA45(2-1/2"~4") ' SC15(5"~12")
21 HANDLE COVER PLASTIC
EXPLOSION DRAWING 22 STEM NUT (for 1/2” ~ 2" only ) SS304
A 24 HANDLE NUT (for 1/2” ~ 2" only) SS304
28  LOCKING DEVICE SS304
29 BELLEVILLE WASHER (for 1/2” ~ 2" only) $s301
30  TAB WASHER (for 1/2” ~ 2" only ) $S304
33 STOP PIN (for 1/2” ~ 2" only ) SS304
35  BODY BOLT ASTM A193 Gr.B8
37  BOLT NUT ASTM A194 Gr.8
41 SNAP RING (for 2-1/2" ~ 12" only ) NICKEL PLATED CARBON
42 GLAND BOLT (for 2-1/2" ~ 12" only ) SS304
47  GLAND FLANGE (for 2-1/2" ~ 12" only ) ASTM A351 Gr.CF8
50 HANDLE ADAPTER (for 2-1/2" ~ 12" only ) ASTM A216 Gr.WCB
56  STEM BEARING (for 2-1/2" ~ 12" only) PTFE.
90  PIN SEAT (for 10” ~ 12" only) “flrtfe.



ApxaHrenbck (8182)63-90-72
Actana (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropon (4722)40-23-64
BpsaHck  (4832)59-03-52
BnapuBocTok (423)249-28-31
Bonrorpap (844)278-03-48
Bonoraa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHbypr (343)384-55-89

WBaHoBo (4932)77-34-06
WxeBck (3412)26-03-58
KasaHb (843)206-01-48
Kanununrpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
KupoB (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
INvuneuk (4742)52-20-81
Kuprusua (996)312-96-26-47

Marnutoropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck (8152)59-64-93
HaGepexHble YenHbl (8552)20-53-41
HwxHuin Hosropopa (831)429-08-12
HoBoky3Heuk (3843)20-46-81
HoBocubupck (383)227-86-73
OMcK (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeH3a (8412)22-31-16
KasaxcraH (772)734-952-31

Mepmb (342)205-81-47
PocToB-Ha-[loHy (863)308-18-15
PasaHb (4912)46-61-64
Camapa (846)206-03-16
CaHkT-MeTepbypr (812)309-46-40
CapartoB (845)249-38-78
CeBactononb (8692)22-31-93
Cumdpepononb (3652)67-13-56
CmoneHck (4812)29-41-54
Coumn (862)225-72-31
CraBpononb (8652)20-65-13

TapxukuctaH (992)427-82-92-69

http://modentic.nt-rt.ru/ || mcb@nt-rt.ru

DIMENSION
w
SIZE . PORT L E H H1 H2
i

DN15 172 15.0 108 165 66 14 8.0
DN20 3/4” 20.0 117 165 74 14 8.0
DN25 1" 25.0 127 200 87 11.0
DN32 1-1/4" 32.0 140 200 92 19 11.0
DN40 1-1/2" 38.0 165 250 105 23 14.0
DN50 2" 50.0 178 265 115 23 14.0
DN65 2-1 2" 65.0 190 390 165 78 44.5
DN80 3” 76.0 203 390 166 78 445
DN100 4" 101.5 229 390 183 78 44.5
DN150 6" 152.0 394 650 285 91 42.0
DN200 8” 200.0 457 950 294 91 42.0
DN250 10” 250.0 533 1100 372 98 54.0
DN300 12 300.0 610 1100 413 98 54.0

SIZE PORT L E H H1 H2
DN15 172 0.59 4.25 6.50 2.60 0.55 0.31
DN20 34 0.79 4.61 6.50 2.91 0.55 0.31
DN25 1" 0.98 5.00 7.87 3.43 0.75 0.43
DN32 1-1 4" 1.26 5.51 7.87 3.62 0.75 0.43
DN40 1-1 2 1.50 6.50 9.84 4.13 0.91 0.55
DN50 2" 1.97 7.01 10.43 4.53 0.91 0.55
DN65 2-1 2" 2.56 7.48 15.35 6.50 3.07 1.75
DN8o 3” 2.99 7.99 15.35 6.54 3.07 1.75
DN100 4" 4.00 9.02 15.35 7.20 3.07 1.75

6.35

6.35

8.0

8.0

9.5

9.5

17.0

17.0

17.0

26.0

35.0

35.0

0.25

0.31

0.31

0.37

0.37

0.67

0.67

0.67

oy 0G 0J 01
9.3 89.0 60.5 35.0
9.3 98.0 700  43.9y,
10.9 108.0 795  51.0
10.9 1175 88.9  64.0
15.7 127.0 985 73.0
15.7 152.0 1205  92.0
28.0 178.0 1395 105.0
28.0 190.0 1525 127.0
28.0 229.0 1905 157.0
435 279.0 2413 216.0
43.5 343.0 2985 270.0
50.0 406.0 362.0 324.0
50.0 483.0 432.0 381.0
oy 0G 0J 0~
0.37 350 2.38 1.38
0.37 3.86 276 1.69
0.43 425 313 201
0.43 4.63 350 252
0.62 5.00 3.88  2.87
0.62 5.98 4.74 3.62
110 7.01 549  4.13
1.10 7.48  6.00  5.00
1.10 9.02 7.50 6.18

oy

Cypryt (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnesaHoBCK (8422)24-23-59
Yepa (347)229-48-12
Xa6apoBck (4212)92-98-04
YenabuHck (351)202-03-61
Yepenosey (8202)49-02-64
ApocnaBnb (4852)69-52-93

H2
H1
[E~___ 1 1
q M
T £ MXON oK z UNIT : MM
11.2 1.6 4x016 42 FO4 M5x0.8P
12.7 1.6 4x016 42 FO4 M5x0.8P
14.3 1.6 4x016 50 FO5 M6x1.0P
15.9 1.6 4x016 50 FO5 M6x1.0P
17.5 1.6 4x016 70/F07 M8x1.25P
19.1 1.6 4x019 70/F07 M8x1.25P
22.3 1.6 4x019 102 F10 M10x1.5P
23.9 1.6 4x019 102/F10 M10x1.5P
23.9 1.6 8x019 102/F10 M10x1.5P
25.4 1.6 8x022 125/F12 M12x1.75P
28.6 1.6 8x022 125/F12 M12x1.75P
30.2 1.6 12x025 140/F14 M16x2.0P
31.8 1.6 12x025 140/F14 M16x2.0P
T F MxON 0K z
0.44  0.06 4x00.63 1.65/F04  MB5x0.8P
0.50 0.06 4x00.63 1.65/F04  M5x0.8P
0.56 0.06 4x00.63 1.97/F05  M6x1.0P
0.63 0.06 4x00.63 1.97/F05 M6x1.0P
0.69 0.06 4x00.63 2.76/F07 M8x1.25P
0.75 0.06 4x00.75 2.76/F07 M8x1.25P
0.88 0.06 4x00.75 4.02/F10 M10x1.5P
0.94 0.06 4x00.75 4.02/F10 M10x1.5P
0.94 0.06 8x00.75 4.02/F10 M10x1.5P





